

### IN THE STUDENT ASSEMBLY OF WEST VIRGINIA UNIVERSITY

October 4, 2017

As referred by the Bureau of Finance.

#### **AN ACT**

Making grant appropriations for various student organizations on behalf of the West Virginia University Student Government Association.

*Be it enacted by the Student Assembly of the West Virginia University Student Government Association*, That the following sums are appropriated, out of any money in the SGA Grants to Student Organizations account not otherwise appropriated, for the Student Organizations listed below for the Spring 2017 Semester per the official WVU Academic Calendar:

#### **Table of Contents**

TITLE I: WVU ARCHERY CLUB	2
TITLE II: ALPHA PHI OMEGA	2
TITLE III: TAU BETA PI	2
TITLE IV: INTERNATIONAL LAW STUDENTS ASSOCIATION	2
TITLE V: ALPHA PHI ALPHA	3
TITLE VI: INTERNATIONAL LAW STUDENTS ASSOCIATION	3
TITLE VII: SOCIETY FOR WOMEN ENGINEERS	3
TITLE VIII: CHI ALPHA CHRISTIAN FELLOWSHIP	4
TITLE IX: INDIAN STUDENT ASSOCIATION	4
TITLE X: STUDENT SOCIETY OF LANDSCAPE ARCHITECTS	4
APPENDIX A	5
APPENDIX B	5

# TITLE I: WVU Archery Club

To help cover the costs of attending their national competition in Alabama. The cheapest lodging option, reflected below, is with Airbnb. Eight members of the organization will be attending this competition.

	Archery Club	
Item	Quantity	Cost
Lodging	3 nights x 8 people	\$672.00
Tournament Fees	\$150 x 8 people	\$1,200.00
Total Allocated Funds		\$1,872.00

#### TITLE II: Alpha Phi Omega

To help cover the cost of purchasing t-shirts for the organization's annual Autism Awareness Run. This grant will cover the cost of 33 t-shirts.

Alph	a Phi Omega	
Item	Quantity	Cost
T- shirts	33 x \$15	\$495.00
Total Allocated Funds		\$495.00

## TITLE III: Tau Beta Pi

To help cover the cost of one person's flight to attend the Tau Beta Pi convention in Detroit, Michigan. Out of two members selected to attend the conference, only one needed travel expenses covered.

	Tau Beta Pi	
Item	Quantity	Cost
Transportation	1 ticket x \$237	\$237.00
Total Allocated Funds		\$237.00

## TITLE IV: International Law Students Association

To help cover the costs of sending six members of the organization to an international conference in New York City from October 19-21. This grant will partially cover the costs of sending six members of the organization to the conference.

International Law Students Assoc.		
Item	Quantity	Cost
Lodging	1 room x 3 nights	\$825.00
Lodging	1 room x 2 nights	\$550.00
Total Allocated Funds		\$1,375.00

# TITLE V: Alpha Phi Alpha

To help cover the costs of an annual fundraising event which is open to the entire student body for attendance. This grant will cover the costs associated with reserving the venue, advertising the event, decorating for the event, and feeding guests.

	Alpha Phi Alpha	
Item	Quantity	Cost
Venue	\$100 rental fee + \$100 insurance	\$200.00
Decorations Advertising	Drapery, banner, lighting, baloons, table skirts, dry-erase board 5000 handbill flyers	\$765.57 \$100.00
Food	Food and drink, plus serving supplies	\$456.06
Total Allocated Funds		\$1,521.63

### TITLE VI: International Law Students Association

To help cover the costs of sending six members of the organization to an international conference in New York City from October 19-21. This grant will partially cover the costs of sending six members of the organization to the conference.

International Law Students Assoc.		
Item	Quantity	Cost
Lodging	1 room x 3 nights	\$825.00
Lodging	1 room x 2 nights	\$550.00
Total Allocated Funds		\$1,375.00

# TITLE VII: Society for Women Engineers

To help cover the cost of sending members to the national society conference in Austin, TX, a major networking event. This grant will cover the costs of lodging for four of the attending members.

Socie	ety for Women Engineers	
Item	Quantity	Cost
Lodging	1 room x 4 nights	\$1,324.00
Total Allocated Funds		\$1,324.00

# TITLE VIII: Chi Alpha Christian Fellowship

To help cover costs of providing free coffee to any WVU students in front of the Mountainlair. This grant would enable the organization to hand out coffee fourteen times this academic year.

Chi	Alpha Christian Fellowship	
Item	Quantity	Cost
Catering	\$90 per week x 14 weeks	\$1,260.00
Total Allocated Funds		\$1,260.00

## TITLE IX: Indian Student Association

To help cover the costs of catering for the Association's annual dinner, which is a university-wide fundraising and cultural event. This grant would cover the costs of two \$1,000 units of catered Indian cuisine.

	Indian Student Association	
Item	Quantity	Cost
Catering	2 containers of food x 1000 per container	\$2,000.00
Total Allocated Funds	i	\$2,000.00

# TITLE X: Student Society of Landscape Architects

To help cover the costs of sending four members to the annual American Society of Landscape Architects exposition in Los Angeles, California from October 20-23. This grant will cover the registration fees of all four members of the organization attending the expo.

Student Society of Landscape Architects		
Item	Quantity	Cost
Registration	\$305 x 4 students	\$1,220.00
Total Allocated Funds		\$1,220.00

# **APPENDIX A**

#### Financial Bill Total Allocation Amount

Financial Bill 2017-10 Totals	
Organization	Total Cost
Archery Club	\$1,872.00
Alpha Phi Omega	\$495.00
Tau Beta Pi	\$237.00
Alpha Phi Alpha	\$1,521.63
International Law Students Assoc.	\$1,375.00
Society for Women Engineers	\$1,324.00
Chi Alpha	\$1,260.00
Indian Student Assoc.	\$2,000.00
Student Soc. of Landscape Architects	\$1,220.00
Total	\$11,304.63

#### APPENDIX B

Requested Amounts Per Organization

Organization	Total Grant Request	Total Suggested
Archery Club	\$2,129.68	\$1,872.00
Alpha Phi Omega	\$1,078.80	\$495.00
Tau Beta Pi	\$887.15	\$237.00
Alpha Phi Alpha	\$2,150.00	\$1,521.63
International Law Students Assoc.	\$1,750.00	\$1,375.00
Society for Women Engineers	\$3,995.14	\$1,324.00
Chi Alpha	\$1,400.00	\$1,260.00
Indian Student Association	\$6,000.00	\$2,000.00
Student Society of Landscape Architects	\$2,820.00	\$1,220.00